1EiL - R
58 BN (EXZ) HREER

M| #ampe ETEEXRT 195 0
[ty & 1
oo | 190
%2 182 185
180
1R & 22.7
2080 T 223 |&| 175 |
3| B 1% 21.2 170 |
4| H 21.2 |
58 i 211 165
6 B 211 | & | 160
1ER B 21.0 155
8| 1] 20.8 = ‘
18 ;; E}; gg‘; o 00 gmoo 21 22 23 24 25
e ® 203 [+ ERR = 26 | FE
12| I = 20.1
13 5 48 19.9 [ #HEtT—4 )
14| & =1 198 | # i %
153 %0 19.8 g E  w#ER|( 2 H| 5 E |R#EE[£ H |
16| & 3 19.7 k20 16.0 16.0 | FER%23 18.0 17.3
1711 = % 19.6 T 21 16.3 16.2 | FE24 18.6 17.6
18| X A 196 | #% K22 16.9 16.9 | F 25 19.3 18.2
19| 18 il 19.6 ) FR2EEET. RAAXEROBEI LY. BEHNBETHES
20 & 1l 19.5 12 OSET 1T (REFRT. MZEET, SFEET. JIIPa4t, TNZERT . ZiHhBT) ZRR0NT
205 F 195 EEHLIfB, _ _
22| 4t i\ & 19.4 B H B | EBERFIR | HIREER
23| 1L i 19.3 ES E| 32,018,149
1 || ®m| 2877475
25] 1L ] 193 | ® 2 | K BR| 2,172,930
26/ #FH B 19.2 F1SWIRRES 3 |t Z JIl| 2,041,843
211 & & 19.1 O8] 19 & = 525,173
28| = ) 188 | . 45 |8 B[ 217864
29| = 171 186 | = 46 |12 H 214,156
= IE 18.4 _ 47 |8 Hy| 163,258
31 A n 18.4 5 H IERL | #ERFE | REEHK
2 = 1] 183 | g ES E| 5,838,004
BE = 18.2 1B = 523,534
M e H 18.0 ENEEXRRTER 2 | K Bx| 447,519
3B E Lo 17.7 (F1eHRRE+EeewERE) | 3 [ £ ) 334,765
I 176 | O8] 19 5 B 101281
37| B 5 175 45 |12 H 38,580
38| i# =1 173 46 (1L - 36,286
39| = Il 16.4 4718 I 33,129
0 I B 16.4
41| 17 X 16.0 AR EESBET N ERIRE KRS
42/ R 160 | | -HAES R TH26543A310
43| & %0 15.8 RERY EE
44| & 3] 15.7 -EHAE EISHRRE (SEUL) 0ENE (EXB) REER
45 % W 15.1 F1ISWERREY
46 F  FE 149 | B |xoam RalmtREchot 8 | FrHi ML T ORIE &Y Ik
47| 1% £ 14.3 LTS,

- 58 -



